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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-14 0
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P3-14
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14:25 283 150.0 2. 888 FA| 1BRi&e14:25 B3 (RAERRSE)
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FRAVE NS RBEKEC 2200. 0

150.0), FAEEHT—@ % XA HS




P3-14_0, Day=74 (2025-06-13)

150 Fo—————F——————F-—————F——————F——————F-——————F——————F——————F——————f——————f——————f-————]
VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 1656
350 1500 ~
1 1200 1200 i
100 018 13( o
+ 1000 \_§
i >
%0 80 20 - 500 &
Warning: [col ['FVI',| "FVO’'] missing
45. 0 1 -0
Vi 4
" 200 ~
™ 42.5 A FRV 00 T
= +
= e - +150 §
= 40.0 1 s
» L 100 =
?| 37 5 -‘l=m ‘:*““_ -
[ ﬁ Ny _'_ 50 &
35.0 -
1.0 0
n
0.8 -
0.6 1
0.4 -
0.2 A
Warning: [col ['WC1’, "WC2'] missing
0.0
o | OPtECO=8000.0, setECB=2200 t
0.6 1
0.4 -
0.2 A
Warning: |col ['ECB’, "ECC’'] missing
0.0
o5 | OPtPHO=6.5, setPHB=6.0 t
0.6 1
0.4 -
0.2 A
Warning: |col ['PHB’,| "PHC'] missing
0.0 i - 3000
—_ Bylnit @D77 02:03: ET=1683 Fg=1950. 0 Ro=396. 0 t —
£ 400 - I 2
E_ : e—eo o © - 2000 E_
£ | E
E 2001 : - 1000 15
_ - =
Ll I ‘ [&]
0 _F a=—guilil| \\—\ 8
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 000
> 200 [A FH FH BH [A FH FH BH 20 s IR s s A A A N N s A s A s EZ S EZA EES )
c . T c
%_ ByEt @D74 19:22:|ET=1423 Fg=1350. 0 Ro=nan : - 2000 (—:_
N l e—s =
§ 200 1 1 =
E . L 1000 &=
— ! 5
o p e - e l 3
07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 8000
> 200 [A FH FH BH A EHRERERERERREESR BH [A FH FH BH G EE S E S NG 5 ERERS )
c E 1 c
%_ ByWoFv I@D77 02:03: ET=1130 Fg=1350.0 Ro=238.0 - 2000 (—:_
< =
£ | E
E 2001 : - 1000 15
— ! B
L —e ‘7 o
1.0 ) ] 0
0.8 - [A FH FH BH A EHREREREREREESR BH [A FH FH BH G EE S E S NG 5 ERERS
0.6 1
0.4 -
0.2 A
0.0
—_— 4
1000 - ( J | _obs
PPFD_obs
— RH
o RH_obs-rning: icol ['RHo_obs’] is missing
° .“ e v A




39.

38.

38.

39.

39.

39.

39.

38.

38.

38.

42.

42.

42.

42.

42.

42.

42.

T
600

860
m=630,n FV0=0

T
1000

——

M_E

Gé5 6&0
m=915,n FV0=0

75 A

50 -

25 A

00 ~

75 -

50 A

25 -

9&0 955
m=460,n FV0=0

60

55 -

50 A

45 -

40

35 A

30 -

——

M_W

472.0

473.0 473.5

m

472.5

474.0

39.

38.

38.

37.

37.

37.

37.

37.

37.

37.

m=410, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=780, FV0=0

—_

——

M_E

780

7é5 7é0
m=1075n FV0=0

90

88 -

86

84

82

80 -

——

M_E

1075

10%0 1685
m=545,n FV0=0

44 -

43 -

42 -

41 -

40 A

39 -

——

M_W

545

550 555

39.

39.

39.

39.

39.

39.

39.

39.

38.

38.

38.

38.

m=460, FV0=0

20 A

18

16

14

12 A

10

i

—— ME

T
472.0

47é.5 475.0
m=825,n FV0=0

T
473.5

T
474.0

25 A

00 -

75 1

50 -

25 -

00 ~

M_E

825

600 800

1000

m=630,m FV0=0
—— W
43
42
41
40 -
39
630 635 640

39.

38.

38.

39.

38.

38.

m=545, FV0=0
- MNE
0_
5_
0_
545 550 555
m=875,m FV0=0
—@— ME
0_
5_
0_
875 880 885
m=410,m FV0=0
0
8_
6_
4_
2_
Warning: col "MW ] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=780, FVO0=0
42
-@— MW
41 A
40 A
39 +
38 -
780 785 790




m=825, FV0=0

43 A

42 -

41 -

40 4

39 A

38 -

—0—

M_W

825

T
830

T
835

m=875, FV0=0

42

41

40 ~

39 -

38 -

37 A

—0—

M_W

875

T
880

T
885

m=915, FV0=0

43 -

42 A

41 -

40 -

39

38 A

——

M_W

915

T
920

T
925

m=1075, FV0=0
38.9 . MW
38. 8
38.7 A
38. 6
38.5
T T T
1075 1080 1085




hour

:00 -

120 -

145

145

125

:10

145

:20

:10

125

100

80

- 60

- 40

§_

“

Q)
)_{?
5
N
-
4
%

%
L
—&&

Y

2
%
.

%5

2
>
L

&

£

&,

&

%
o
%

)
-

4@

&%‘ %‘ P

%



P3-14

BYiE) | GEBERTIC (RD) | EBE (BAH/HK) | BREE (BF/R) | X8 ERR

05:45 283 150.0 2.888 ] B218@05:45 Bzh (FRAEESE)
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Bit]2547.0 (9%) 1350.0 EUHIKEC: 2200, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRERE150. 0 ml.

FREVGE NS KiHKPH 6. 005
FRAVE NS RBEKEC 2200. 0

150.0), FAEEHT—@ % XA HS
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